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FRIGEME (FR) BA(EM)

' H HeE B fi] B HER > 28 2
A=A 1 kg
TFILE 1 ke
ERE 20 kg
ZIE5 10 ke
FY 10 kg
HELWLV=T 1 kg
]I 10 kg
= 5 ke B EBL
5 ke g EBM
FJAL3 10 kg
1 kg & A2L
JV—2TF RN 1 kg &AL
1 kg &AM
BEVAITA 12.5 kg
MRUERE 15 ke
AEIJOyal)— 10 kg
RTFMFSER—Z(IFILA) 1 kg X 10A
BROETZARRTH 1 kg X 10A
MEKRE 10 kg
A=A E ARV 10 ke
Ya—RM) VT RTH 800 gXx10A




FREBME (Fx) BA(BEff) 4HE

BE5 i % mOoK | R & %

1 [A—=DA> B2L NS |9ANBL2AHE

2 |RFILY LM NT [MTT1ANG2AHE]

5 |FrAy 8E 10Kg/DB |7 A TAIN 5108 F4)

6 |ELLM=IT L kg |t

7 [ 4E 10Ke/DB [9 A TAIAS10A T 4]
BL 5keg/DB

8 |BEAR ORFANSI12ARK
EM 5kg/DB

9 |RL\E A2L 10Kg/DB |4
A2L 1kg/DB

10 (FJYU—2TFRINS AL 1kg/DB |SAHAMNS6 A Lf])
AM 1kg/DB

1 [AEVAITFA 12.5kg A CS |FMH#t#a

12 |RRTCERE 15kg A CS |Ef#tHa

13 [HEIOyal)— 10kg A CS |EME#MA

14 [RTMYSHER=R(IFILE) | 1kgx T0A Cs |FM#a

15 |RDETSARRTH kg X 10A CsS |FRi#i#a

16 [[HEKXKE 10kg A CS |FM#HA

17 | A—=94F AR Yk 10kg A CS |&FME#t#a

18 [a—RMJUTRTE 800gx 10A | CS |FERAft#A
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